BREK-KEK-KEK-KEK!
- SOLUTION TO LAST ISSUE'S PUZZLE

A route through the bog represented by last issue's
puzzle could be found by noting that nine answers
contained the word PAD, which was to be entered into
the grid in a single square (indicated by the circles at
right). Crossing letters were unique from A-l,and tracing
the path from PAD A to PAD B to PAD C etc.revealed the
Frogs' song:IT'S NOT EASY BEING GREEK.

Clue Notes

(* indicates an anagram;" " indicates a homophone)
Across 1. POMP+A+DOUR 6.RID(G)E 10.(-q)UITE* 12.
DORM SPACE* 14. LATE reversed 15.NaStYkNoCk 16.
PRAISE* 17.MAPS rev. 19.muBARAk rev. 21.AND POET*
22.0LE(-g) 23.MORE(L)S 27.BI+COIN* 29.frEE Lunch
30.DENSE* 31.G+RAN 33."keep + ad" 34.LE(GAL+P)AD
36.ALA+TE 38.RO(-g)UE* 39.M.(I)L.KING 40.GOES* 41.
CODA+PAP rev. 42.GOD rev.+P+ADDLE

Down 1.PE(NP)AL 2.(-p)OTTER 3."eights" 4.cALCUtta
rev. 5.ASSORT* 7.SDlI rev. 8. DROP MY* 9.PEACE SAD*
11.RAVINE* 13.NOBLE*+C 18.(-p)ACING 20.RAN DOPE*
23.MULE IS* 24.ROSE UP* 25.P(M)AVER rev. 26.tALK A
Little 27.BE(HI)ND 28.FINE* containing US 32.GO ALL*
34.duralLE GOods 35.G + REG 37.truculenT KOalas
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